
mse = 0.0
samples = 1
value = 80.0

mse = 0.0
samples = 1
value = 76.0

mse = 18.0
samples = 2
value = 82.0

mse = 0.0
samples = 1
value = 82.0

mse = 2.0
samples = 2
value = 86.0

ETA_dEpsilon_D <= 0.026
mse = 3.556
samples = 2

value = 77.333

nHBDon <= 1.5
mse = 13.5
samples = 3
value = 82.0

mse = 0.0
samples = 1
value = 87.0

mse = 0.0
samples = 1
value = 73.0

mse = 0.0
samples = 1
value = 77.0

mse = 0.0
samples = 1
value = 81.0

mse = 0.0
samples = 1
value = 62.0

mse = 42.25
samples = 2
value = 54.5

mse = 0.0
samples = 1
value = 0.0

mse = 0.0
samples = 1
value = 67.0

ETA_dEpsilon_D <= 0.025
mse = 21.556
samples = 4

value = 81.667

mse = 672.222
samples = 2

value = 53.667
mse = 0.0

samples = 1
value = 64.0

ETA_dEpsilon_D <= 0.033
mse = 14.8
samples = 4
value = 83.0

ETA_dEpsilon_D <= 0.035
mse = 3.556
samples = 2

value = 75.667

mse = 0.0
samples = 1
value = 55.0

ETA_dEpsilon_D <= 0.04
mse = 90.25
samples = 2
value = 71.5

ETA_dEpsilon_D <= 0.006
mse = 688.222

samples = 3
value = 36.333

mse = 0.0
samples = 1
value = 82.0

mse = 0.0
samples = 1
value = 92.0

ETA_dEpsilon_D <= 0.024
mse = 44.816
samples = 5

value = 79.571

ETA_dEpsilon_D <= 0.028
mse = 524.188

samples = 3
value = 56.25

mse = 0.0
samples = 1
value = 28.0

ETA_dEpsilon_D <= 0.034
mse = 23.188
samples = 6

value = 80.25

ETA_dEpsilon_D <= 0.037
mse = 120.667

samples = 3
value = 66.0

ETA_dEpsilon_D <= 0.013
mse = 913.44
samples = 4
value = 54.6

mse = 0.0
samples = 1
value = 0.0

ETA_dEpsilon_D <= 0.023
mse = 56.109
samples = 6

value = 81.125

mse = 0.0
samples = 1
value = 70.0

ETA_dEpsilon_D <= 0.029
mse = 547.04
samples = 4
value = 50.6

ETA_dEpsilon_D <= 0.035
mse = 90.05
samples = 9

value = 76.364

ETA_dEpsilon_D <= 0.015
mse = 1260.857

samples = 5
value = 39.0

mse = 0.0
samples = 1
value = 68.5

nHBDon <= 1.5
mse = 64.91
samples = 7

value = 77.417

ETA_dEpsilon_D <= 0.031
mse = 375.465
samples = 13

value = 68.312

mse = 0.0
samples = 1
value = 90.0

mse = 0.0
samples = 1
value = 94.0

ETA_dEpsilon_D <= 0.017
mse = 1131.08

samples = 6
value = 45.556

mse = 0.0
samples = 1
value = 0.0

ETA_dEpsilon_D <= 0.027
mse = 262.668
samples = 20

value = 72.214

ETA_dEpsilon_D <= 0.052
mse = 3.556
samples = 2

value = 92.667

ETA_dEpsilon_D <= 0.02
mse = 1204.75

samples = 7
value = 41.0

ETA_dEpsilon_D <= 0.046
mse = 274.156
samples = 22

value = 74.194

ETA_dEpsilon_D <= 0.023
mse = 704.32
samples = 29

value = 66.098


